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A certain endomorphism f in[R’ has two different eigenvalues with a different sign each.
The determinant for the matrix of f is 1 while the trace of the matrix is -1.

We also know that:

- ker(f+1)=L{(1,1,0),(0,1,1)}

- (1,1,1) is an eigenvector

Elqenyaluss
Determine:
1 E? J&m \, — MO (51)'-‘1

102
2. FB ?

Ao— MOG)=2

53 () # Sj (M)

S(—'—‘-):ker({:‘lﬂ) IFBl :[ - -’\15‘[’&2 j ilcz
2 2
";(‘—_a):-lz A|+t\l "'A?.

— —

{'Al u-t

Ker(ew‘i):i[m,mlzsof) T
iy PR p— SC')?O[:{(I,I,I)

ol l
| 11

IF ((;',«l) s ah Ei‘jenthrJfDr AnD

eSt) eS) ) )




MIX - 14 mayo 2014.gwb - 3/6 - 14 may 2014 09:11:40

One wa oP e”'".j ,:,3

| (],:(l(l,'::r)B (
u,_z(o,l,r)
u O(u_){:(q DIJ i(lzf' l): .@ ) FB C FB C }

l.

) 3 F -CF%"C |
[ @e SCI) fCi)= - = (1,0,0)g \ Ad (c)*
e SCN  f(m):-w =04, 0) - I;(
P ey f@)= Ge(0,01)g
_ - - 0. -—H-,‘\"“g, (O II‘B'
a"—a+_é3® -u:b glie:? gg)@ Qz U+M'b ()[3 (I',f_f I)BI
AN T L
54,180 © U,-@ =Wyt | & =% mB
M 1 @—»’@
C }:8' C |

7o S
R (S
e o
‘&/ Io-1 -1
Yo f@) F @)
( - )
I




MIX - 14 mayo 2014.gwb - 4/6 - 14 may 2014 09:30:34

lqrw”‘” wa:j opJeH’.‘U E

Ne+&)=-z -6 — , f@) &) 5.6 O
f(es & ):-¢, . e —— fa)4f(&)=- & -8 (i)

Plar12+18) o va, — [(@)+FE)eFB)-atr s (&)
(ed) -6 ) + F(g,:g) :254-2@_1‘69_3 :(1,2,()3
(i)~ (1) ; F(E.) z €‘+?_§2_+2§3 =(‘f312)s ()

()= (): {5y .-, -7, - fcay ©-28,-3% 287 (2.3, 2,

e\*?é‘l_—! ZES




MIX - 14 mayo 2014.gwb - 5/6 - 14 may 2014 09:42:35

102

R 7
p=C'R C — CRc'- gé/ﬂgc/——ﬁl—_hca,c*’

Ioz |02

F - C FB' C-_J ————aso (‘C FBJ Cj-‘-Jl

T T T I l::'?f-!‘wJls
R CROCTR OCR OCRCERe” s

-CR7C" ¢ (fm Q - C(Jé )c -cIcT eI

e~ T
Fy

I';[M:T




MIX - 14 mayo 2014.gwb - 6/6 - 14 may 2014 09:53:58

E'{Jenva.[ues 3

Given an automorphism in [P, the vector space of 2nd degree polynoms named f.
1. Obtain its kernel and image.

2. Knowing that x+1 transforms into itself, that 3 transforms into -3 and that the
determinant of the matrix is 6, obtain the eigenvalues of the automorphism.
3. knowing that L{(x*+x+1)} is an eigenspace, obtain by -

Note: You cannot use information of later points of the problem in previous points.
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